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Analysis

- Datasets location (pure generator tracks)
- Hydro: /zfs/store7.hydra.local/pbatyuk/mcDst/vHLLE_UrQMD/AuAu/

Without Coulomb!

- Analysis procedure: o
A(q) — q distribution with

M Weight = lednicky codes
B(@) | B(g) - q distribution with
- Fit: C(q) = 1+ 1G(q) Weight = 1

2 2 2 2 2 2
G(q) = e_qoutRout_qsideRside_qlongRlong

« Correlation function construction: C(q) =

Without Coulomb!




Analysis

- VHLLE+UrQMD (~1M events for each centrality bin)
* 4 centrality bins (0 - 3.3 fm, 3.4 - 4.7 fm, 4.7 - 6.6 fm 6.6 - 10.4 fm)
* 9 kr bins (0.15 — 1.05 GeV/c with step = 100 MeV)

0.15 < pr (GeV/c) < 2.8
pair cuts was not

minBais events :
applied

Inl| <1




Example of Cfs (VHLLE 7.7 GeV)
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Example of Cfs (vVHLLE 11.5 GeV)
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vHLLE R, , Vs. k;
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Summary

- All histogram was rebinned by 2 due to the poor
statistics

- Rlong and Rout have more strong dependence on
PT than Rside

- The difference increases with collision energy




